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RHRS BCM Asymmetry for 2.2 GeV, 2.5T, 90deg
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RHRS BCM Asymmetry for 1.7 GeV, 2.5T, 90deg
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RHRS BCM Asymmetry for 1.2 GeV, 2.5T, 90deg
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RHRS BCM Asymmetry for 2.2 GeV, 5.0T, 0deg
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RHRS BCM Asymmetry for 2.2 GeV, 5.0T, 90deg
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RHRS BCM Asymmetry for 2.2 GeV, 5.0T, 90deg
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RHRS BCM Asymmetry  for 3.3 GeV, 5.0T, 90deg
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1	
  :	
  Up	
  BCM	
  Asymmetry	
  

2	
  :	
  Down	
  BCM	
  Asymmetry	
  

*3	
  :	
  Average	
  of	
  Both	
  BCMs	
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RHRS Charge Asymmetry for 2.2 GeV, 5.0T, 0deg
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RHRS Charge Asymmetry for 1.2 GeV, 2.5T, 90deg
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RHRS Charge Asymmetry for 1.7 GeV, 2.5T, 90deg
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RHRS Charge Asymmetry for 2.2 GeV, 2.5T, 90deg
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RHRS Charge Asymmetry for 2.2 GeV, 5.0T, 90deg
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RHRS Charge Asymmetry for 3.3 GeV, 5.0T, 90deg
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RHRS Charge Asymmetry for 1.7 GeV, 2.5T, 90deg

Zero	
  Asymmetry?	
  

84	
  of	
  189	
  runs	
  have	
  
asymmetry	
  =	
  0	
  

?????	
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  Se]ng	
  


